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2.2.1 Refinement procedure

2100000000000000000000000000()00000000000 f00000000
00000000000 f00000 ,,FP, 0000000p,0 ps0000000000000000000
0000000000000000000000 refinement procedure 1 00000000000

Refinement procedure 1 0 000 0000000000000 000000000G,.,Gs000000000
0 A=Ja],B=1[b;)]000000 M = [my;]0 po xps 0000000000000 my; =10 v 00 v
00000000000000000000000000000000000MO0000000000000
000000deg(v) 00000000000

1, deg(vgj) > deg(vai)
mi]‘ =
0, 000D

Refinement procedure 0 000 4,j0000 (4)000000000000000O0O000O0Om,;; =00000
ooooooo MOOOooooooooooooo

Ve ((aiw=1) = (Fy) (May-by; =1)) (4)
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O0deg; 0 v 0O00O0000scO pgO000O0O0O0O0O0DO100000O0 10000000O00O0:=00000
O00&O0000000O00O0ONOTOOOO0OOOOO0OOOOdo-whileO ,whileO ,if O ,break O ,return 00 C
gboboboobooboo

Refinement procedure 0 00000000000 M(M;000)00000 000000000 OOOOOO
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do

{ Oelim := 0;
Oi:=1;
Owhile(i < pa) {
00y :=1;
O Osc:=2P8~ 1L,
0 Owhile(j < pg) {
00 Oif((M;&sc # 0) {
O000Oh:=1;
000 Owhile(h < deg;) {
O00000x := lsty;
0000 Oif(Mi&B; # 0) {
0oooooM; .= M;&NOT sc;
O00000delim := elim + 1;
oo0oooddh:=h+1;
00000Obreak;
ooooo)
Oo0od0dh:=h+1;
oooo}
ooo}
00 0Osc:= se/2;
000j:=j+1;

oo}

0 Dif(M; = 0) return(FAIL);
O06:=1+4+1;

0}

} while(elim # 0);
return(SUCCEED);

O 1: Refinement procedure [1]
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Ub00Ow.0o0oooooooogoo (1§z’§pa).Fi=1DDDDDDDvaDDDDDDDDDDDDD
0 (1 <i<py)0dmake lst; and deg; 000G, 0000000000000 Orefine M O O refinement procedure
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Step 1. M :=MY; d:=1; H; :=0;
for all i :=1,..., po set F; :=0;
make [st; and deg; for all i := 1, ..., pa;
refine M; if exit FAIL then go to step 7;
Step 2. If there is no value of j such that mg; =1 and f; = 0 then go to step 7;
Mg := M; k :=0;
Step 3. k:=k+1;
if mgr = 0 or fr = 1 then go to step 3;
for all j # k set mg; := 0;
refine M if exit FAIL then go to step 5;
Step 4. if d < po then go to step 6 else give output to indicate that an isomorphism has been found;
Step 5. If there is no j > k such that M4(d,j) = 1 and f; = 0 then go to step 7;
M := My; go to step 3;
Step 6. Hg:=k; Fr:=1;, d:=d+1;
go to step 2;
Step 7. If d =1 then terminate algorithm;
F; :=0,if j # H; for all i < dj;
d:=d—1; M:= Mygy; k:= Hy;
go to step 5;
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n = etsa(d); i :=0; a:= eta(n); b:= etb(n);
while (a # 0 or b #0) {
if (B(p(a)Op(b)) = 0) return(NG);
i:=1i+1; a:=-eta(n +1i); b:=etb(n +1i);
}
return (OK);
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L edge existence check algorithm '
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edge check module
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O00000000000000 [p0000000000000000 UllmannO 0000000000000
00000000 60000000000000000000 M°0221000000000000000000
000d0000000M, 000 MO Jd000000ps0000 used0 00000000000 Oused(i):=0
O 0000000000000p0 p,0000000p(1)0 v, 00000000000000000

O700000D0000000000O0O0DOO00000 priority encoder 1000000000000 20
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M := MY IM := M d:=1; used :=1;
while (1) {
current := My & used;
while (current # 0) {
current(i) =1000000 ¢000;
p(d) :=1i; current(i) := 0; flag := 0;
“ Ooobobooooorooo;
if (000 =0K) {
if (d=p,) 00000;
else {used(i) :==0; My := current; d:=d+1;
flag := 1; break;}
}
}

if (flag) continue;
if (d = 1) terminate algorithm;
Mg :=1IMg; d:=d—1; used(p(d)) :=1;

0600000000000 6
control priority
encoder
A
v
M > M _i| and |—>| currentHDECI P —» iggik
module
DEC
[
d ¢ > t1/-1 |
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3.2.1 0O0OO040ooOooodod

00000 G,0 GeOOOO0000000000000000000G,,Gg000000000 edq,edgD
000G, Gs000000000 pa,ps 000000 Go,GgOO0000000 ga,ge0000

000Pa;Psrda,qs 000 00000000000000p.0 pple.0 0000000

0000000000000000000 p,0 ps 00000000000000000000000000
00000000000000000000000

Pp > DPa (5)
0000G,0 GegOOoO0OO0000000000000000¢0 ¢ 000000000000O0O0
4qs > a (6)

(3)0000p.,ps 000000 O0O0ODOOOOODO

Y

—~
EN|

~—

Pa

ed,,
vz ®)
00 (2)00000000000000000
P pa(P;—l) ed,, (9)
- pﬁ(pg-—]J edy (10)

000000 ¢,¢00000000000000(9),(10)000 ¢4,¢s00000000000000000
00000000000000000000000000000000000000000000000000
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00000000000000000000000 (06000000)0000000000 ¢4,¢ge000000
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oooo

o = round(weda) (11)

g5 = round (ZM.edﬁ) (12)
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0800000000000 0O0000000DN000000000a00000000 p,00¢00000
0000000 GOOOOO0O0D0000000000000000000() 0000000000 p00000
0000@G) 000000 ¢—(p—1)0000000000000000¢000000 GOOO00000p
0 ¢O (5),(6),(7)0(12) 00000000000

000 CO GOOO000 [e;]0000if0,while 0 for O break O return 00 CO00 0000000000
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G,CG;00000000000000000000000D09Y00000000000000000 AO
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gen_graph(C, p, q)
{
Owhile(1){
O Ofor all 7,5 :=1,...,p, set ¢;j := 0;
OOfor(k:=1; k<(p—1); k++){
00MMO0000 4,000 (i#£j, 1<i,j <p);
000C[H][5] = 1
00}
0 Oif(C = O) break;
0}
Ofor(k:=1; k<q—(p—1); k++) {
O Owhile(1) {
0000000 m,nO000 (m#n, 1 <m,n <p);
00 Oif(cn # 1) { ¢mn :=1; break; }
00}
0}

Oreturn C

08 0000000000 DODOO gen_graph

Py~ Pq
///// S
I
A [/ e S B
— 1 49,
Po 2

09 G0 GgOO0O000DO

000000000 (psp—po) 000000000 GeUOOOOOOOO0OO (ps—pe) 000000000
ooo0oO0oo00o0oO00O0O(13)oooooooooooooo

48 —4da = DB~ Pa (13)

00000000 G, C GeOO0000D000000000D00000000 1000000000000
PerPprdangs 0 (5),(6),(7)0(13) 0000000000 Dif0,while 0 ,do-while O ,for 0 ,break 00 CO OO0 OO
O00000OOretwrn X,YOOOOO XO0YOOOO

0000000000000G,0000 p, 00 ¢ 0 GgODODODO ps,00 ¢s0000000000000
000G, 000000000 ADDDDDDOODODG;00000 B=[b,]000000000000 Ga
0 GeOOODOD0O00000D (gs—¢.) 0000 GeOOOOD0D0G,000000000000000000
O000000G,CcGs000000000 G,0 GsO000D0

324 G,¢ GgOOODOOOOODO

000000000000 Go¢GegOOOOOOO0OO0OO0OO0OOOO00B000G,0 GgOOOOOO
O00000000000000000G,¢ GgOOO0OO0O0O0O0002000000000000000000
00000000000000000 1100000000000000000 323000000 Ga-into-Gh()



Ga_into_Gb(pa, ¢a, P, 43)
{
Ogen_graph(A, pa; ¢a);
Owhile(1) {
Ofor all 4,5 :=1,...,pg, set b;; := 0;
OAD BOOOOOO
O Ofor(k :=qa; k£ <gqp; k++) {
0 O Owhile(1) {
000MO0000 4,000 (i#£4, 1<4,j<ps);
000 Oif(b; #1) { byj :==1; break; }

ooo}

oo}

O0if (B=00O0O0O0O ) Ubreak; O}
Oreturn A, B;

}

010: G, CGgOOOOOOO0DOOO0OO0DOO0O00O00DO Ga-into_Gb

gbooobuooguaoodgbgad

000000000000 0G, 0000 po, 00 ¢ 0 GegOOOO pg, 00 ¢eO0OO00O0O0O0O0OODOOO
000G, 0 GgOO0O00000000000 A, BOOOOOOOO0ODOG000 G, 00000000000
00b0ooo0o0oobooO0o0o0b00b0oG,0 G000 00o00o0bo000000G, ¢ GgOODO

000000 G, 0 GgOOoO

3.3 0OO4n

Gamotin_Gb(pa, ¢a, D3, 43)
{
Owhile(1) {
0 Ogen_graph(A4, pa, ¢a);
0 Ogen_graph(B, ps, ¢3);
O Oif( A ¢ B ) break;
O}
Oreturn A, B;
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OooO00O000O0000boboOo0Odbed, O poedsg pg 00000000000 O0O0OC0OOOOOOCODOO
ooooboooo

() 000000 Go CGgO0000
Opal edoO pg eds O (5),(6),(7)0 (13) 0000000000 0edg,eds 0 0000000000000

0 pe,ps00000000000D000000O0(),(6),(7)0(13)000000000000000000
ooo

0 1: O(eda, edg) = (0.2,0.2) 00 O
2 2 _

(5),(6) 0000 pa > 55 =10, pg = 55 =10

ep,=1000000

- (1)0000ps > 10

(7)0000¢q =round (%2 -0.2) =9
000 (8)0000¢>9 OO0 (12)00000)
- 00000p,=10000 (13)00000 pgO

ps=10,11,12, ...

ep,=1100000

(11)0000pg > 11
(7)0000¢q =round (X512-0.2) =11
- 000 (8)0000¢>11 0000 (12)00000)
00000p,=11000 (13)00000 pgO
psg=11,12,13,... 00000000000000000000
0 2: O(eda,edg) = (0.4,0.2) 000
(5),(6) 0000ps > 555 =508 > 55 = 10

°*p,=900000
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(11)0000ps > 10
_ 109 _

(7)0000¢gq =round (%2 -0.4) = 14
000 (8)0000gs >9
- 0000(12)000000000gg > 14
- Py 000 (13) 00000000

ps—9<qs— 14

qp =2 pg+9o

nglODgng&][IDDDDDDDDDD
10-9 | )_9D<

s = 10 = g3 = round

(5
pgzlléquround( 2 )z [k
pg=12:>qg=7‘ound(12 )z X
pp =13 = qg =round (32.0.2) =16 [x
5 =14 = qg = round (12 .0.2) = 18 [x
gzl5z>qg=7‘ound(12 )z RS
pp =16 = qg = round (1%2.0.2) = RS

gooooooo

- 00000p,=9000 (13)00000 pgO
pg=15,16,17,... 0000000000000 000000O

0(5),(6),(7)0 (13) 00000 pa0 edaOppl eds 000 0000000000000 0000000O0

0000000000000000 pa,pg<15000000000000000
MO0D000 edy,eds 000000000000 pa,ps 0000000000 edg,edg 000000000
00000000000 0000000ed0 0010000000000000000000000 (dense
0)0000000000000000Ded,0 edg00000000000040000000000000

(a) edo 000 ,edg 0 000 0: O(edy, edg) = (0.2,0.2)

(b) edy 0 00 ,edg 00000 O(eda, edg) = (0.2,0.4)

(c) edy 000 ,eds 0 0000: O(edy, eds) = (0.4,0.2)

(d) edy 000 ,eds 00000: O(e ) = (0.4,0.4)
MO0400000000000000000000 p,0 ps0000000000000000000
23450000000000000000000000000000000x0000000000000
000000000000

a,ed@

0 2: Go C G0 (edg, edg) = (0.2,0.2) 000 0p, 0 pp 000

bg

0l 11 12 13 14 15

10 b o o o o o

011 [k o o o o o

Pa 012 [k X o o o o
013 [k X X o o o

014 B3 X X X o o

ui1s [k X x X X o

MO0ed, 0 edgOO0OO0O0000O0O0O0O0O0O0O0O0C0OOOO0O0Og, 0 ¢gOO0O0DO0DOOOOOO
00000000 (a)0(d)0000 eda,edg DO0DOD0DOO00D0O0O0O000DO0O0O0DO edy,edg0 0
00000000000 00000000 edo 0 edg000O000O0O0O0O0O0O0O00OO 2,34,5000000
00000000000 000000000000000000000 ed,0 edg0O0000O0O0O0O00OO
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0 3: Go C G0 (edy, edg) = (0.2,04) 000 0p, 0 ps 000

Pgs
g 11 12 13 14 15
010 b o o o o o
011 [k o o o o o
Pa 012 [k X o o o o
013 [k X X o o o
014 B3 X X X o o
015 [k X x X X o

0 4: Gy C G0 (edy, edg) = (0.4,02) 000 0p, 0 ps 000

b
gl 11 12 13 14 15
() o] o o o o o
[{ [k o o o o o
Pa ar [k x o o o o
s [k X X X o o
9 [k x X X x o

ooo0ooooO0obe0O0O0O0O0OOOODOOOOOOOO0O000DOO0O0 edy,edgd0000 edy,edg0 O
gobooooooboboobooooboobooobogoon
MOoo0o0000000000000000000000000000 G.,GegOOO0O0O0O0 1000000
oooooooooooooooboboboboooooboooboooboboooobobobobooboobooo
gboboobooboooboooooobooboooboboobogleobboboscobbonooooooooong
gooo

() 000000 G, ¢ GgODOOOO
0G,CG;00000000000000000p,0ps0000000000 ()00 10000000
0000000G,¢ G000 (13)00000000000
0G. ¢ GeOODOOO0OD0DD0D00000000000000(5),(6),(7)0(12)00000000000000
000000000000 0000000000000000000p.,¢000000000000000
G,0000000000000000000000 Gg000 G,000000000000000000
G,0 G,0000000000000000000
M 7,8,9,100 p,,ps 0000000000000 0000c0000000000000D000000x0
00000000000000000000000000000000000000000000 G, ¢ Gg
00000000000000000000000
M 78,9100 00000000000000000000000000 edo0 eds0000000000
0110000011 00000000000000 ¢o0 ¢e00000000000000000
MO0000000000000000000000 G, ¢ Gs00000000000000G, C G
00O0oOoO0o0
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0 5 Go C G0 (edy, edsg) = (0.4,04) 000 0p, 0 ps 000

Pgs
s 6 7 8 9 10 11 12 13 14 15
a5 (b o o o o o o o o o o
06 [k o ) ) o o) o ) ) o o)
a7 (k x o o o o o o o o o
08 k x x o o o o o o o o
09 [k X X X o [} o o (¢} ¢} (¢}
Par 010 [k X X X X o o o o o o
011 [k X X X X X o ¢} [} o [}
12 [k X X X X X X o [} o ¢}
013 [k X X X X X X X ¢} o o
014 [k X X X X X X X X o o
015 [k X X X X X X X X X o

0 6: Go CGgOOOedy,edg 0O0O0ODO0ODOOO

Given Average s.d.

Oed, edg O Oedl? edg” [ Oeds: 4 edfjd' O
00.20 00.20 O | 00.19811 [0.19758 0O| 00.00267 [0.00280 O
00.20 00.40 O | 00.19811 [.39760 O | 00.00267 [0.00231 O
00.40 00.20 O | 00.39436 [0.19772 O| 00.00783 [0.00270 O
00.40 00.40 O | 00.39474 [0.39611 O| 00.00665 [0.00470 O

3.4.2 UllmannO0OOD0OO0O0ODOODOOOO

Ullmann OO0 000000000000 OFreeBSDOO OO OOOO getrusage() 00000000 OOOO
0000 [1)0 stepl D000 step7r0 0000 getrusage() 00000000000 OO0OO0O0O0O0OOOOO
000000000000000000000000000 1000000000000 G,,GgOOOOOOOO
O00O0000o0ooo0oo00 UlmannODOOOOOOOO0DDOOOOODO

3.4.3 0OU0O0OOO0OO0OOOOOOOOOO

goooo0oooOooooooooooooooooooooooUooooooUUooOoOD copooooo o
OPERLOCOO OOOODOCOOOOOO0O0OOOOOOOODOOODOODOOOOOOODOOOOOOODOOODRO
gooboboboooboooooobooboboboobooboooobooboobooooboboooboobo0oo0oooooDo
OO0 165MHzO000000COPERLOOOOCOOODOOOOOOOD 1000000000000 OOOOO
000000 12,1300000000000000 [ |]0O0000000O0O0O000OD0OOOO0OO0O0OOO0O0
0000000 1000000000000 G.,GegO0O00O00O000O0O0O0O0O0O0O0O0O0OOOODOOOOOO
obobooobooooooo
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0 7: Go ¢ G0 (edy,edsg) = (0.2,02) 000 0p, 0 ps 000

Pa

bg

11 12 13 14 15

010
011
012
013
014
ui1s

(¢] (e] (¢] (¢] (¢]

X o O O [¢]
X X O O [¢]
X X X O (¢]
X X X X o

0 8 Go ¢ G0 (edy,edg) = (0.2,04) 000 0p, 0 ps 000

Pa

P

010 11 12 13 14 15
0o | O O O O O
011 |x o O O O O
012 |x x o O O O
013 |x x x O O O
014 |x x x x 0O O
015 | x x x x x 0O

0 9: Go ¢ G0 (edg, edg) = (0.4,0.2) 0000 p, 0 pp 000

Pa

s
06
v
08
09
010

bs
11 12 13 14 15
o O O 0O O
o o o o o
o o o o o
o o o o o
X % o o o
X % X o o
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0 10: Go ¢ G0 (edg, eds) = (0.4,04) 000 0p, 0 pg 000

Pgs

05 6 7T 8 9 10 11 12 13 14 15

s b o | | a | a | | a |
06 [k o o o o o o b0 0O o 0O
a7 (k x o o o o o 0O O 0O O
08 k x x o o o o o o o o
09 [k X X X o [} o o (¢} ¢} (¢}
Par 010 [k X X X X o o o o o o
011 [k X X X X X o ¢} [} o [}
12 [k X X X X X X o [} o ¢}
013 [k X X X X X X X ¢} o o
014 [k X X X X X X X X o o
015 [k X X X X X X X X X o

0 11: Go ¢ GgOOOedy,edg 000000000

Given Average s.d.

Oed, edg O Oedl? edg” [ Oeds: 4 edfjd' O
00.20 00.20 O | 0O0.19750 [0.19819 O 00.00281 [0.00264 O
00.20 00.40 O | 00.19862 [0.40633 O| 00.00242 [0.00361 O
00.40 00.20 O | 00.39438 [0.19817 O| 00.00635 [0.00265 O
00.40 00.40 O | 00.39808 [0.39820 O 00.00243 [0.00226 O

3.5 UOoodod
3.5.1 000000 G,cGgOOOO0O

(edq, edg) = (0.2,0.2), (0.2,0.4), (0.4,0.2), (0.4,04)0 0000000000 14,15,16,170 000000000
00 ()0 000000000000000 ()0 UllmannO0O0O000O00000000(¢)000000000
00 Ullmenn 0000 OO0O0O0O00000O0O0O0O0O00O (a),(b),(c)0 po 0 x00000000000000
0 (a),(b)0 yOOOOOOODDOO0O00OO0O0O00 (00:0)0000 (¢)0y000000000000000
000 (00:0)0000 ()000000000000000000 UVlmennOOO0 00000000000
0000 10000000000000 10000000000

(edy,edg) = (0.2,04)000000000000000000 UllmannOOO0O0 00000 10000000
00000 (eda,eds)=(04,04) 00000000000 Ulmann D000 0000000000000000
0000000000000 UlmannO0OO0000000000000000000 (edy, edg) = (0.2,0.2) 00
00 100000000000000000000000000000000000000000000 Ullmann
0000000000 000OOO0O

3.5.2 000000 G,¢ GgOOOODO

(edq, edg) = (0.2,0.2), (0.2,0.4),(0.4,0.2), (0.4,04) 00000000000 18,19,20,21 0 000 (edq, edg) =
(0.2,0.2),(0.4,0.2),(0.4,04) 00000000000 10000000000000000 0 Ullmann 0000
0000001000 refinement procedure 0 00 00 0000000000000 000000000O0000
000000000000000000000 (Step)00000000000000Ullmann 0000000
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M =M% IM :=M° d:=1; used :=1;
[Do0O0O000oOOo]
while (1) {
current := Mg & used; [1]
while (current # 0) {
current(i) =1000000 «+000; (000000 1]
p(d) :=1; current(i) :=0; flag:=0; [ OO 1]
goooooooobooorooo;,
if (000 =OK [00000000000D000]){
if (d=po [1) D0D0O0; 1]
else {used(i) := 0; My := current; d :=d+ 1,
flag :==1; break; [0 O0O 1] }
}
}
if (flag) continue;
if (d =1 [1]) terminate algorithm; [1]
Mgy :=1IMg; d:=d—1; [1]
wsed(p(d)) = 1; [1]

0 1200000000000

n = etsa(d); i :=0; a:= eta(n); b:= etb(n);
while (a # 0 or b # 0) { [1]
if (B(p(a)Cp(b)) = O[1]) return(NG); [1]
it:=1+1; a:=eta(n+1); b:=etb(n+1); [0 OO 1]
}
return (OK); [1]

0 13: 00000000000

O00000000000000 (edo,edg) =(02,04) 00000000000 UllmannOOOOOO0DOOO0OO
oooooooo
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p(alpha)
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ratio(times)

1 1 1 1
10 11 12 13 14 15
p(alpha)
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run time(sec.)
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00001 F— ]
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4 0OUO00O0OOOOODOFPGADDOOO
4.1 OO

gboobooooodoboobooooooooooooooooooooboooobag

4.1.1 00O0OO

O00000000000000000OLucent 00 ORCxxA O D00 FPGA[BOOUOO OPERLO OO
MODOO0OOOPERLOOOO 200 FPGAOODODOOOOOUDOODOODO PCIFPGA, 00000 USER FPGA
000 (022)0PCIFPGAOOPCIOOO USERFPGADUODOODODOUDUOOOOODOODOOOOOSROMO
0000000000000 USER FPGAOOOODOOOODOOOOOODOOoOOOoOoooooooooood
00000000 (bitstream) 0000000000000 OUSER FPGAOOUOOOOOODDOOOOODO
FPGAOODOODOODOODODOOODODOOO

OO0000O0Lucent 00O OR2C1I5A FPGA D USER FPGAODOOOOOOOOR2CI5A0 00000000
00 19,200044,2000 00 [B|0OR2CO 000 FPGAUO U O DO OUOO PFU(Programable Function Unit) O
OOO0OR2C15A0000 400PFUOOOOOOOOOOOO

OR2C15A 00000 OPERLOUODOOO0OOOOOOOOO PClIOOODOOOODOOODOODOODODODOO
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coccoocon oo cod

PCI FPGA USER FPGA

0 22: OPERLO OO [4]

0122000000000

goooo AMD K6-IIT 400 MHz
gboogoo Intel 430HX
goooood 256KB(K6-1I10 00)
ooo DRAM 64MB

00000000 | FreeBSD-2.2.1
cooooooo | gee ver.2.7.2
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4.1.2 00000

O 2300USER FPGAOUOOOUOOOOOOOOOOODOOOOCOOOOOOOOODOOO
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- 000 GgOOOOO B
— 00 MM
— Edge list table (eta,etb)

— Edge list table starting address (etsa)

e JODODODO
gdbooboobooboboboooooooboboon

— boDobobooao

— bDooooobobobobgooan

— boboooobobooboooooo

— booobooobobobobooboobobooboaooon

4.1.4 000OO0ODOOODOOO

O000000000G,,GeO00ODO0O010000000000000000 (pa,pp) =(15,15)0000
oboobobooooooboobooooooonog

gooooooooobobooobooooobooooboooon® booooobooo o0 2000000000
gooo0o0o0oO0ooOoOoOo0OoO0oOoOUOO0oO0oOOUOOOO0OO00O0DOO (ooooooooooUoooo
gooooooooooobobooo IMMBO oODDOOOODODOOODOOO0O0OO40000000000O
gbooobbooooboobOoOoOoOobD10obO0O 100000 1hooboooooooooboobooooo

OO000CoOoOO0OOoOvVHDLOOOOOOOOLueent 00 OR2CxxA FPGAODOOODOODOCOOOOOODODO
O00000O00oO0o RAMOOOO0OO0OOOO0O0400000000000000FPGAOOOOOOOOO
000000000 4000000 RAMOOOOOOOOOOOOODOODOO40000000000000O
goboooobooooon

4.2 0000

gboooboooboobobobooboooobooooooboobooobooobbooboboboobooooDn
ooooon

4.2.1 0OO0OO0OO0O0OOO

obooobooooobobbb 2400000000000 0DbODbOOo0O0OODODbOOOobObObOOO0Oo0oooDn
gon

bboboobooboooooboobooboobooboboobobooboooobobooOobDOob00dpa
0000 G, 00000¢, 0000 G, 0000pg0000 GgOOOOOOOO

e 000 ETS(A),ETS(B)

M 40 Edge list Table 00 0000000 (datal) 00 200 (data2) 0 0000 0ETS(A),ETS(B) O
0000000000 log(pa+¢.,)00000000000000000 log(pg) 000000000000
0000000000000000 16x4000 RAMOOOOOOO0O0O000000000000 RAM
0000000000O0ETS(A)ETS(B)000000000000 MUXO0O0DOO0O00O000000
00000000000000000000000000000000000000ETS(A)000000
0250000ETS(B)0 ETS(A)0 0000000000000
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ETS(A) #0

data

out
RCF16X4Z

A d WPE
address TRI
3 e .
L]
]

Psel

ETS(A) #7 a

data

out
RCF16X4Z

Psel * WPE
d N

L

4

0 25: 000 ETS(A)D OO

e OO ETSA

(0 40 Edge list table starting address D OO OO OETSADOOD D OO0O0O0O00OOOlg(pg)0000O0
000000000000 Olog(pe +49o) 0000000000000 0O16x4000 RAMOOOOO

e JOOP

MO0000000 PO 70040000000 vb(i)(1<i<p,)000000000000 (MUX)O
00000POOODOOOOOOOOOlg(ps;) 00000000000000000 Olog(pg)00000
000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
0000000000000000000000000000000000

MOO000000000000000000000000000000000000000000000
00 [6000000000004000000000 p,-[%2«1 0040000000000 2-log(pa):

log, Pa
}:L%qDDQDDDDDDDDDD21%@@U““ﬁ—ﬁﬁ&pmmDDDDDDDDDDDDDDDD

2 2
i=1

000 Lucent 00 OR2CxxADODO0O0OODOD QD000 D0OO0OO0O40 0000000 (RD4P3D)
0000 0504000000000 (MUX41)O0OOO 0.2502000000000 (MUX21)O000O0O
0.125000000p, =15000000000000 1800 PFULDDOODOOODODOOODODOO
0 16x20 0000000000000 (DCE16X2)0000 10000p, =1500000000000
0200 pFUDOOOODODDOOO

e 00O B O Edge Check

(0 500000000000000BOOOOOODOOlog(py)DO0OO00OOOO0O0OO log(ps)DOO
OD00000000 pgO000Edge CheeckDOOO0000O0O0O00 pg, 000O0O00O0O00O0O0O0OO
O log(pp) 000000000000 10000000 BOOOO 16x4000 RAMOOOOODOEdge
Check0OO0O GO 200000000000000(OOOOOOOOO)O

o000 000oooooooboooooooooooboooDoO0oDO00O0bbO0O0DO0 BO Edge
CheckDODODODOOOODOOODODOODOO 20000000 BOOOOOODODOODOODODO
oboooboob 100000000 BOOOOOO 1500000000000 200000000 BO
ooooo 4ooogoo--, 00000 1500000000B0OO0O0O0ODO 1000000000000
ooboooooooobOOOooBOOOOOO oOODDOOODODODODOOODDOO

e Sub Control Unit
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MBwrite B #0

— B_DO[3.0]
< RCF16X4Z o
WPE
P_B_out[3:2] T h
- . exist
: 4 Lﬁ
B #3 P_B_out[1:0]
— B_DO[15:12]
out
RCF16X4Z

0 26: 000 BO Edge CheckODODODOOOO

ooobooboobooboooooobooboooboboobbobooobOoboooboooooobobooDo
oboooooboooobooooooobooobooobobo2roboobobooooobboboooooo
ooboooobobooogn

— b0oao

* reset sub
Osub control it 0000 000000000000 O00OO0OOOOOOOOOO (42200
00000)0000000000000000000O0000000000000 reset subO
00 (000 1)0000Osubcontrol nit00 000000000000 0O0O0OOOO0O

* start sub
Moo00o0o0o0o00oOoU0oOU000O00O00OO0O0UOOO0bO0O0LOO0OOO0OO 42200
00000)0000000000000000000000000000000O00UO00ooUo
Jo0ddoOo start subD 000000 OODOO0OOODOOOOOOO0O

* start address
OEdge list table 0 0 0000 00000000000000 ETSAODOOOOO log(pa + ¢a)
goooooooood

* exist
[Modooodoooooao {Uga,vgb}[l[llj[l[llj[l[llj[l[l gooooodooobooood
O00O0O0O0O0OEdge CheckOO OO OOOOOODOOOO

— b0oao

* adr
OEdge list table 000 00000000 0O0O0O Ostart address0 1000000000000
0000000000000 0000000adr0000000O0log(pa+¢e) 0000

* result
MO00000000000000Oresult 000000 1000Oresultd OK(OOO 1)00O
000000 dOvw00000000 e, 00000GgO0000000000 eg0O0O0ODO
000000000000 Oresult0 NG(OOO O)DDDDDDGgDDDDDDDDDD eg U
Ooooooooooooooon

* end sub
MOo000000o0o000000000dd0dddddfendsub000000 10000end
sub0 000000 0ODOOCO0O00DOOOO00OD0DODOO0DO0O0DOOO0O0O0OooOd

— gbooooboo
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reset sub=1
start sub=0

i=0 A
INIT a{lr=start address +/i
adr=start address

CHECK ETS

start sub=1
reset sub=0

(@a=0)
and (b=0)?

CHECK B s EDGE

RESULT OK B(p(a),p(b))

result=1
end sub=1 RESULT NG

\) reset sub=0

result=0
end sub=1

reset sub=0

O2r- 0000000000000

x INIT
MoO00o00oooooDoooooooobOoooooDooogooonoogs0o0o0oon
O000D0adrO000 start address 0 0000000000000 OOstart subO0O0D0O0O
0000000000000 DOoooOoooOooooooad

x+ CHECK ETS
OEdge list table 0 000000000000 100 (datal) 00 200 (data2)0 00000
0000o00oo0oo0oOo0oooDooobObOo0onoooo0OoRESULTOKODODOOOOOOOO
CHECK B’s EDGEO OOO

x+ CHECK B’s EDGE
OCHECK EDGEODODOO0O0OD exist 0 OO0 0DOODO0D0OD0O000O0O00OOexistd OO0
OO0O0OOINCREMENTOOOOOOOOOOOORESULT NGOOOO

x* INCREMENT
(00 datal 0 data2 00000000000 OOOOOOODO:00O0 1000000000 0O0O
000000000 adrO start address + i0 0000000000 0OO0O0OOCHECK ETS
oooo

x+ RESULT OK
Oresult 000 end subO0 00000000000 D0DOO0DOOOOOresetsub0000OONO
odoodooooooooooooooooooooog

x RESULT NG
Oresut 000 000O0endsub0 0000000000 ODOOO0OOOOO Oreset subO OO
0000000000000 o00ooooooooooo

4.2.2 0000000

gboooboboboo 280000boooooooobobooooooboooboboooobooboooooon
gboooboooboobooobooooobooboooooog
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END MAIN SET REST PART

MWrite=1

Msel=1
PSel=1
PWrite=1
dWrite=1 MWrite=0 LOAD P
Next d = dOut -, Msel=0
check EqOne=1 PSel=0
PWrite=0
dWrite=0
usedWrite=1 SET P AND

check EqOne=0 usedSel=1

CURRENT
reset sub=0
currentSel=0
currentWrite=1
PSel=1
PWrite=1
PrioWrite=1

CHECK CURRENT
CHECK COMPLETE

current # 0?
reset sub=1
found=0

start sub=1

EDGE CHECK

dWrite=1 result=0 ALGORITHM
Next d=9001 INIT MAIN end sub=1 currentSel=0
usedWrite=0 NG o=
currentWrite=0
usedSel=0

currentWrite=0 PSElfO

currentSel=0 PWrite=0

PSel=1 PrioWrite=0
PrioWrite=0 Call EDGE EXISYENCE
reset sub=0 CHECK ALGORITHM
start sub=0

found=0 reset main=0

end main=0

Start main=1
result=1

end sub=1

currentSel=1

Start main=0 . SET CURRENT
in=1 currentWrite=1 CHECHK DEPTH
reset main: MWrite=0
MSel=0
AWrite=0 NEXT DEPTH

sedWrite=0

MWrite=1
MSel=0
dWrite=1
usedWrite=1
Next d =dOut + 1

check EqPa=0

02 00000000000000O000O00DO0O0DO0OODODOO

e JOO MO IM

M 70MOIMOOOODODOOOO MO IMODOOOOOO0D0O0OO log(py) 000000000000
00000 logpg) D0 O0OD0O0OO0OO0DOO0OOOOOI6x4000 RAMOOOOO

e 10 0O0O current

M 70 cuerent DO 00000000 current 0000000000 pg00000000O current 000
goooooooooooooooodooooooooooooo 4000000000000

e OO0 used

M 70 wedd 000000000 wedd 000000000 pg00000000weddO0O0O0O0OO
oooboobo loobooooboooboooboboooobboo40b0000b00b00ObObO0O00

ooogdd

(070 d000O00O0O0O0OO0OdOOOOOOCODOO0 leg(p,)D0O0O0ODOOO0dOOOOOOOOO
obooO0oobOobOOobObOooobOoobbobbOobo40b0b0O0b0O0O0ODOO

0000 pa

Op, 00000000000 DOO0OOO0O0O0O0ODOO p,0000OOO0D0ODOODO log(p,)DOOOOO0OO
p,dooooobooobobbob0o ooobobooobooobbooooobb 4000000000000
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e Priority Encoder

MO00 current 00000G, 00 GegOOOOOOOOOOOOOOOOOOOOO 70 Priority
encoder 0 00 00O Priority encoder 00000000 ps 000000000000 log(pg) 00000
O0oooooooooooog

e J0OODO i

OPriority Encoder U 00 000000000 OODOOOOPriority Encoder 00O O0O0OOD0OO0O0ODO
00 curent U0 ooooobooobobogobobooboobboboboboobooooobgn
000000000000 log(pg) D0O0O0D0O0D00O«0000000000000DO0 00000000
gobooooboobboo 400b0000000ooo

e Decode & Set 0

Ops 0000000 »000000000000000000000000000 2000000001
000000000000000002000000000000000 inputl00O0000 input200
OOinputl 000000 pgOinput2 0000 00 log(ps) 000000000000000 Dinputl O pg
00000000 Oinput20 n0000000000000000000 pg0000000 Oinputl O
(01010 - - )5, input2 0 (0010), 00 0000000000000 OO(00010--), 00000000000
000000000000000000

e Decode & Set 1

Ops 0000000200000 1000000000000000000000 200000000 1
0000000000 00000002000000000000000 inputlD0O0O000 input20 0
OOinputl 000000 pgOinput2 0000 00 log(ps) 000000000000000 Dinputl O pg
00000000 Cinpuw20 n0000000000000000000 ps0000000 Oinputl O
(01010 - - -)9, input2 0 (0001), 00000000000 O0O0O0O0OO(11010---), 00000000000
000000000000000000

o =17

MO00dO0O0 d)0 1000000 00000000 ooooooooooooOoooDoUODoOoOoo
log(p,) 0O 0O0O0OOOODO 10000000000 dO 100000100000 000ODOOODOOOoOO
goboooobO0obOoboboo40b0000000DO00O

® =py?
MO000dO00d)0p, 00000000000000000000000000000000000

O log(p,) 000000000 10000000000 dO p,000001000000000000OODO
obobOoboooooboooooo40b0bbOObD0O0Ob0ODnDO

e Main Control Unit

MooooooobooooboboooobooooooooooboboooobooobOoboobboobooooboooboo
gtooboooboobooboboooboboboob 2900oobooooobooobooonn
oooobOooooooog

— goooo

* Reset main
MOoo0000000000000o000O0000oo0ooooOOoO0UoOO0D (b0 AODOO
000)0000000000000000000Reset mainO000000 1000000 Reset
mainJ 000000 OMain Control Unit 00 000000000000 OOOOOODOOOO
00000000000 (d, current, used,i) 00O O000OO0OO
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*

*

*

Start main
MO0O0000000000O000000o0o00o0oO00O0o00O0DoOOooOUUoOoOOoO (OO
AODDDOUDOD)0DO0OO0OO0O0O000000000000OResetmain00 0000 100000
0000000000000 Sstartmain0 000000 O0O0DOOO0O0O0OODOOOODOOOO
check EqOne

MO00d00O00d0dbD0O ddl1lgddooooodoooooooooooooooooo=170
godooooooooood

check EqPa

MoO000o00o00don do p, 0000000000000 000O0000O0000000 0=p,?
Oooo0ooooooooooon

check current zero

(00 d0O v, 0000000000000000000000000000O00000O00000
oooo=0720000000000oooog

dOut
o0000000000dO00000000000oooUooOodowdn o0 00 log(pa)
gooao

good

reset sub

o000 booooobooooboboooooooOobOooobooobLoOOoboo
oooooooooooo

start sub

00o0do0oDooooooooooooooooon

PSel

(00 PO0DOODOOODOODOODOOOOOOOPSel0OOOO 10DOO0OOOO
00 1000000000 d0OD000000oooooodoooooooodnnddEdge list
tableOOOODO 100000000000 OOOOO0O

PWrite

MO0 pPOO0O0O0ODOO0OOOOODOOPWriteO 1000000000 POOOODOOODOO
ogoooao

PrioWrite

MO000i0000b000ooobo0bboOPrioWritel 100000000O0ODO i Priority
Encoder 00O OQOOOODOO

currentSel

MO00current 00 0000000000000 O0OO00O0DOOOO currentSeld 1000 OO
ANDOOOOO (Mg &used0 D0 )0 000 0000 Decode & Set00 0000 (current(i):=0
000)00000 (0D6000)0

current Write

MO00 cwrrent 000000000 O0D0O0OOcurrentWrite 100000000000 0O0O
gdodboooboobdooooao

usedSel

MO00uweddJO0DOO00O0D0O00O0ODOO00OO0O0ODOO0O0O0O0O0O usedSeld 1000 Decode &
Set10 0000 (used(p(d)):=1000)0000 0000 Decode & Set0 0 0000 (used():=0
000)00000 (0D6000)0

used Write

MOO0uwedJ 000000000 O0OO0DOOuwsedWrited 1000000000000 0O0O0O
oooooooooooog
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* Msel

MoODOoMODODOODOOOODODODODOO0OOO0DOO0000D0D Msel 1000 IMOOOOO
(Mg:=IM;000)0000 0000 cwrrent 00000 (Mg:=current000)00000 (O 6
0oo)o

MWrite

o0 MUODODOOOODODODDODOOODOOOOOOOoDOOoDODOOMWrited 100000000
goodgooooooogoobobooboon

Next d

MDO0O0000D0dOODOONextdOOdOwO OO 10000000000000O00 10000
gbooobbooooobobboouobooo

dWrite

MO0O0dO0OD00o0oooDoooooonodwrited 1000000ONextdOOODODOOOOO
ggo

*

*

*

x found
MO000000d0o0o0o0o00ooooo0o0ddddfound00 0000 10000
* end main
MO0000000000000000000000000endmain000000 10000

— bDooogoodad

x INIT MAIN
(MO0 00D00000000000Start main=0 00000000000 O0DOOODODODOOO
Start main=1 0 0 Reset main=00 000 OSET CURRENTOOOODOOOOOOOOOOO
ooooooooo

-0000dOO0D 100000 (dWrite=1, Next d= 0x0001).

- Decode & Set00 0000 (used(d):=0000)00000 wed0 000000000000
000 (usedSel=0)0 0000000 wedJ 00000000000 (usedWrite=0)O

- Decode & Set0 DO 000 (current(r):=0000)00000 current 000000000
0000000 (currentSel=0) 00000000 current 000000000000 (curren-
tWrite=0)0

-0000d00000000000POO0OOOODOOOOOOOO (PSel=1)0
-0000i000000000000 (PrioWrite=0).

-00000000000000 (reset sub=0)0000000000000000O00O00O00O0O
(start sub=0)0

-00000000000000000000000000 (found=0)0

- 00000000000 00000000000U00000O (end main=0)0

* SET CURRENT
MOO00 cwrent 00 ANDOOOODO (Mg & used000)0000000000O0O0OO
00000000000 ANDOOCOOODOO0OCOODOD currentSel0 10000000000
carrentWrite D 10 000000000000 MOCOOODOOOO0O MSelO oODOOO MO
gooooooooooooboOoodooononDoobO0d dwriteD 000000 wsedO OO0
O0o0O0O0O0O0Oo0OCOU0O0OO0OU0O0O0O0OO0OOOOO0 SET CURRENTOODOO

x* CHECK CURRENT
MOO00carrent 0 000000O00O00O OOOOODOOOOOODOOOOOOOOOOO
0000000000 00000 (resetsub=1)000000000 foundDOOOOO (found = 0)0
O000=0?00000000000 check current zero 00000 O0CHECK COMPPLETE
000010000 0SET P AND CURRENTOODODO
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* SET P AND CURRENT
MO0dO v, O0O0O00OOoO0o00 ;0000 POO0OODDOO0O0O0O0OO currentd ¢+ 000
o000 ob00obO0o0ooooooooboO0:0000POO0OODDOOOODOOODO PselOD 100
00000000 PwriteD 100000000000 currentD ;0000000 OOOODOO
O0ODecode & Set 00000000000 cwrrent 0000000000 D0OOODOOOODO¢0O0
000i00000 (PrioWrite=1)0 00 O O EDGE CHECK ALGORITHM OO0 O

+ EDGE CHECK ALGORITHM
o000 ooo0odooOooUoooOdoooo0oooooooooooog P
00000000000 ETS(A)D000OO0ODODODOO0O0ODO0O0OO0DOODOD PselO 000
O0OStartsub0d 10 000000000000 DOOO0O0D0O00OODOOOOODOOOOOOOOOO
000000000000 000000 endsub0 00000000 resultd0O00Oend subO 0
0000000000 Oresult=100 end sub=10000 OCHECK DEPTHO OO O result=0
00 end sub=10000 O0CHECK CURRENTOOOO

x* CHECK DEPTH
o000 d0 p, 0000000000000 O0O0OOOOOO000O0=p 0000000
check EqPall 10000 OFOUNDOOUOOOOOOO ONEXT DEPTOODODO

* FOUND
Mo0000o0oo0o000ooooooooooo0oo0o0Cfoundddn0 100000
0O 00OCHECK CURRENT O ODOO

* NEXT DEPTH
Mo000d+100000000000000000wvws,00000000000000 (=0)0
used 00000000000 Ocurrent0 00 M,O0O0ODODOOOOODODOdO 1000
OO00000Ousedd «0000O000 0OOOO0O0O0O0ODOODOusedSeld 00 usedWrite O 10
0000000000 carrent 000000 MO dOOO0OOODOOOOOOOMDOOODO
OO0O00OD0O MSelDO oDOOOODOODOD Mwrited 1000000 dO 100000000
OO0000oOooOOo00ooooooboodbodDtnextdd0 000 dOoDOoOooooOoO
00000000000 dWrited 100000000O0SET CURRENTOOOO

x* CHECK COMPLETE
o000 doOOoO0000O0000o00000b00o00oo=1200000000 check
EqOned 10000 OEND MAINOODOOOOODOOOSET REST PARTOOOO

x SET REST PART
(MoodoOdoo 1oo0ooooooodooo d-1goooooo, o000 IiMOodoodoo
OMOdOOOOOOOOOOOdO 10000000000 DO0O0 IMO dOOOOOoOogo
0000000 MOOOOODOOOOO MSelO 10000000000 Mwrited 1000000
0d0 100000000000 00000000000000000 NextdO dODODOOOO
000000O0o0oooOoonO dWriteD 100000D0O0O0OLOAD POOODO

x* LOAD P
UvogUU v, OO0 O00ooododooooodddooooooaoooodgaood
OPOdOOO0OODOOOOOODOwedD (0000000000000 ODOOODO 10000
000000 POO dODOOODOOODOOODOODOPseld 1O0PWrited 00 OO0 OOOOO
OO0 uwsedD ;00000 100000000 Odecode & setl 00000 Odecode & setl 00O
0000000 uweddOOOO0OO0OOusedSeld 1000000000 0O00OCHECK CURRENT
oooo

x END MAIN
MO000000000000000000endmain000 10000000 Oreset maind 0
0000 odoooo0doooooool1oooooINIT MAINOOOO

38



4.3 00

OO0O00dooPERLODOOODOOODOOODODODOOOOOOOODODDOOODODOOODODOOODOOO
goooo

4.3.1 0O0O0OO
gbobooooobboaboobobobobobooooogoaogd

e JOOOODOO

OOo00o0ooooooo0O0o0 veEDLOOOO000000D000000000000000 Lucent OO
OR2CxxA0 0000000000000 O0O0OOOOODOO0OOODODO (OO ODRAMODOOOOOO
000000000000) 000000000000 o000o00o000000o0o0oo0o0oo0o0vVHDLO
oooooobooboooooooobbooboon

e OO

OO0 00o0oo (VHDLOO OO ) O Synopsys 00 Design Compiler 1 D0 00000000000
0000000000000 00000000000000 VEHDLOOOOOO OR2CFPGAOOOOO
gboboooooobooboooobobobooboboobooo 1BooobooooooooboobOoDbo
o0 1o0000000000000O0bOO0O000EDIFODOOODOOOOOODO

013000000000

goood Ultra SPARC 167MHz
oo 128MB
OOo0OOoOooOoD | Solaris 2.5.1

e UODLODODOOOO

OORCAFPGAOUOODOOODOO (0D)0O0O0OOOODOOODO EDIFOOOOOOOOODOOODOOO
goooooooOoooobooO0 nedobbbOooOoDOoOOoODOOOOOOODOOOOODODOOODOODO
O0000OCOORCAFPGAODOODOODODOUODDODOODDOODODOUDDOOODODOOODODOODODO
OO00O00O0000000bO0ooO0O00O0OLucent 10 ORCA Foundry 9350 00000000000
000 4000000000O0000000DODOODOOODOOOOD20000000DO00O00O0DODO
000000000 (bitstream) 0000000000000 USERFPGAUOOOOOOOOO

U 14:0000000000000000

goooo Intel Pentium II 450 MHz
oooooo Intel 440BX

ooooooo 512KB(CPUDOOO)

ooad SDRAM 256MB

Oo0ooooono | MS-Windows NT Workstation 4.0

4.3.2 0000

OR2CFPGAODIOIODOOOOODOOOCOCOCOUOOOODO 000010000000 PFUDODO 16000
Oo0OO0oO0OOO4ooFPULOOOOOO OR2C15A000200000000000000C0CO0DO0OO0O0ODO
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O000o0o0O0O PCIFPGAODOOOOOOODOOOODOODOOOOPCIDODOOOODOODOODODODOODO
gooboooobobooooooobobobooboooooooboooboobooboboobooooooboobooboooon
obobobooobobobodoobooooooooooboooboooboboooboooo

U 15: 00o0aoouadaod

0o | PFUD [DD000 (MH) |
0000000 23 33

Unit0 160 16.5

Unit1 160 16.5

00 343 -

oo0O0ooO0o0oooo pPFUOOO l6e0000O0OOOOOOO PFUOOOOOOORAMOOOCOCOO
OO000O0OO0OOR2CFPGADO SRAMOODO FPGAOOOODODOODOOOOD FPGAOOOODOODOOUODOO
oboobobooooooobD 1hoboobo 1000000 PFUOOOO 160 PFUOODOODODOOOOO
gboooboobooboboooboboobooobooboobbobooobOobobooboooboobooobooobog
OprUO0O0O0O0OOO0O0O0O0ODOODODOOOOOOODODOOOODOODOOOOOOODODOOOODO
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